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1) Calcule:

d?y

a) =5 S y=2z"—In(x)

b) T' si T(t) = cos(mt?+ \/g) —tg(t+ 1) + sec(l —t) + sen(27)

(60 puntos)

Solucion:
a) P = (@) = (In(z)" = 2" (In(z) +1) = 1

% _ d(d?) = (2% (In(x) + 1))’ — (%)'

= 2" (In(z) + 1)(In(z) + 1) + 2L + & = 2% (In(z) + 1>+ L + 5 []
D)YT'(t) = (cos(mt + Ve3)) — (tg(t + 1)) + (sec(l — )’ + (sen(27))’ =
— sen(mt? + \/6_3) 21t — sec?(t+ 1)+ sec(l —t)tg(l—t)(—1)+0=

— 2t sen(mt® + \/6_3) —sec?(t+1) — sec(1 —t)tg(1 —t) D



2) Muestre que : e* - T = 3x(3x5 — 823 + 2)
(00 puntos)
Solucioén:
3 71‘3
dlae”) (xdi ) _ 3p2 e +a3e ™ (=322 =322e ™ —3zPe " = (322 — 32%) e’
d’(ate ) 2 5Y p—a?] 7 4y p—a 2 5\ p—a? 2
— gz = [(32® = 3z°) e ]/ = (62 — 15z') e + (32% — 3z°) e~ ( — 32?)

3

= (62 — 15zY) e " + (— 92* + 927) e’ = (6x — 15z* — 9zt + 9z") e *
= (6 — 24z' + 927) e
Luego

2,3 p—ad
e’ . % = (62 — 24z* + 9z7) e e’ = 6z — 24at + 927

= 32(2 — 82 4 325) = 3x(32° — 843 +2) []



